Seat No. :

JD-101
July-2021
M.Com., Sem.-1V

510 : EA/EE — Management Accomiting-ll

Time : 2 Hours] | ' ' : [Max. Marks : 50
PRWeit: (1) [Lewl-I-A R AL R RS

. (&
C2)  Rewi-Taisll iR 6L usAiAL velel @vil. ¢ \/ \

(3) eI us-5 Royuid 8. - \\ o |
; Rewt—1 X“ |

[ [Qaia (@RS 7 12,00,000-0 3 v L 5cll QAR 8. s8R il

YR, BURL Clte-l ied al
T\

4,00,000
5 3,00,000
HAUIRL YL USclRAL 20% ARIeliAL 8 A 53041 ANV VAL AL 50% QAW AUQLell-AL 6.
ik A1) ks ug Rl Wi se Hedisd R B : |
() wa-eunadlugl

(i) AR ASIY YR 40 el ugld

(iii) Ao addu Heu-ll ugla

(iv) -g1sRsdiAL sl ugld

Alu: T 1 o adbid Hed 10% Al i yRoin A el 8 -
o 1 2 3 4 5
adaid Hed 0.909 |0.826 |(0.751 |0.683 |0.62]

20

Jp-101 - 1 P.T.O.



(A) g Ar-Ari Ast T 2,25,000 A6V 2 B Al iEwva As$ Udle 24

> 2ssAAL-UHEEL 2115 AR HYA S 10
af  Assuue ) At
UMSEL s
1 1,50,000 0.90
2 1,00,000 0.70
3 1,00,000 0.50
4 1,50,000 0.30
QL v €1 d2lal € 10% 8. AL ddHid HedA 2R Assl aﬂa%t
RelsRA% A€l 10% ALER T 1 f bl Hed A Horen 6 P
adHiiHRAUIR 1) L \ |
1 0.909 °
2 0.826 | 0\
3 0.751 ‘
4 0.683
B) [Auluget AR WR Alu e, ‘ | 10
3. (A) Fau [@RRsAL =L [eiRdl 201 - MRl HIRA AR Hovot § 10
Qo : | RQewl-BR) | Rewl-C ()
25,00,000 40,00,000
1,50,000 2,80,000
£4,00,000 20,00,000 28,00,000
SR AgLRITRA AR §AL [ A5I151RS & 2
RIS UR AO1dRAL 6 AR 5l (eI QY A5151RS & ?
arqoigRleadl Rutofl we Al QRu 3-8l mondl. o 10
(A @FR2s iR [[ewrl Roteell Bua sl 53l WE UsaR A1 YR AN
Aol Guallor 52 8. 4 2020-21 o [AeWwL ‘' igiora A Hovot B - 20
Rowd ® L tae AR
sl Fesdl 7,00,000
Alg Fetsdl (BUsR] Rar) 4,00,000
BUERL - 1,00,000
(et 2 At s ER vl 7,00,000
Gewe AsHEls AlGict vl 15

0972 Horoi-ll At oveall RS 2,00,000 Bgay
RAS10L UR AU Azl €3 25%
[ewt 2 BRogell Baud sl 531,

A A ovesll (BAgaaii) 25% ol el sy dl grotgell Bud uR 9 2143 4 ?
JD-101
2



[Qewl-11
5. RN [Aseu uais 531 : I d wi) | 10
(1) DR-Are G Ass Ut @ B 2
(a

®) 5 MBI A3) + SRAAL

(€) 59U UREIA A5l — BRARL
@ ol A \ \ |
‘Q&S’ 4l

) AU A HEA

§IARL YESIAL 5L

N’

(2) idRSs ANzl €R 8.

(a) se-2lge

(c) <A¥Y

(3) <2 mquq 5¢ u»a[& He

(a) ‘-Rder

P v

(a)

(d) il 81 4l

QPR A BV HIMAAL Wgld 3.

ng | - (®) wWig

(5)  UH YHRL AOLR-AL 63 A AVHR(RA ARl ER 53ctl Gl €1 B,

(@) A () g

6) we-allatdl [AraugL 3 ey szl Ald dndr 2601 2 sigr WIR 6.

(a) Q{lg' ' (b) 1r11§
7 orarlenl Rauol wgR wua kg, 3
(@) uvihbl (b) ATl | .
) Ruad@sQua L @) 2l 2?16' AR
G ' 3 p10.



(8)  URUL Id SU-IL AS1A YR AR €3 4B AR

(a) . Masd | (b) SR AR

(€) SR &R : C) LU NS AR
(9 waoisRlaall Ruel weld Al GL 8.

(@) oudl e gl (b) sl xS ygla

(© tidRs 2Rqua wgl ) 2Wlag 'l@ “
(10) Bud FuRerll gl sq, A yel-oel Froigell Bay \ *
6« 1568 R
(11) Retgell Bud Ruke 5@ Bas.

(a) i _ zim-u iR Qe

i 241 U8 515 AR

SRAML AL 8.
(@) R B.‘-.ucl Q’lct

() oladl Bud RuiRe

HdvglddiQewisea
(@) SR 3w - (b)  Ast3es
) Asiad+ (@ 20l S AR

JD-101 4



Seat No. : \9\ Q\\’\ .

JD-101

July-2021
M.Com., Sem.-IV .
510 : EA/EE — Management Accounting-il

Time : 2 Hours] | ‘ [Max. Marks 50

Instructions : (1) All questions in Section — I carry equal marks.

(2) Attempt any two questions in Section — 1. \ -
(3) Question No. 5 in Section — Il is compulsory.
SECTION I ‘
1.  Vivansh Ltd. is considering to invest ¥ 12
annual income after depreciation but befo
Year ®

project. The expected
R

reciation may be taken at 20% on original cost and taxation at 50% vof net profit.
You are required to evaluate the project according to each of the following methods :
(i) Pay-back Period Method '

(ii) Rate of Return on Average Investment.

(iii) Net Present Value Method.

(iv) Profitability Index Method.

Note : Present value of ¥ 1 at 10% discount rate is as under :

Year 1 2 3 4 5

Present Value | 0.909 | 0.826 |0.751 | 0.683 | 0.621
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2. (A) The total inve;stmcnt in a project is estimated at ¥ 2,25,000. Its foreca§t cash flow
and certainty equivalent co-efficients are as follows : : : :

Year Cash flow (%) Certainty Equivalent
Co-efficient

10

1 1,50,000 0.90
2 1,00,000 . 0.70
3 1,00,000 0.50
4 - 1,50,000 0.30

whether the project should be accepted. The present valve of ¥ 1 at 10% dis
rate are as follows :

Year Present Value (of T 1)

n
¢ T
1 0.909 \ I
2 0.826
3 0.751
4 0.683

(B) Write a note on decision tree approach

The risk free discount rate is 10%. Determine on the basis of Net Present V{uc

10

3. (A) The operating information o c ' isha Ltd. for the year 2019 are
as follows : ' 10
Particulais’ sion B (?) | Division C (3)
Sales 25,00,000 40,00,000
1,50,000 2,80,000
4,00,000 20,00,000 28,00,000
operating profit ratio, which division is most profitable ?
sing return on investment, which division is most profitable ?
Explain various centres of Responsibility Accounting. | 10
4. yati Company fixes the inter-divisional transfer price for its product on the basis of
cost plus a return on investment in the division. The budget for division ‘A’ for the year
2020-21 is as under : - ‘ 20
Particulars - ®
Fixed Assets 7,00,000
Current Assets (Other than debtors) | 4,00,000 -
Debtors . 1,00,000
Annual Fixed Cost of the Division ‘A’ | 7,00,000
Variable cost per unit of product 15
Budgeted volume 2,00,000 units per year.
, Desired Rate of Return on Investment 25%
" Determine the transfer price for Division-‘A’.
Lt;l t::?volume (in units) can be increased by 25%, what will be the impact on: transfer
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SECTION —-1II
% éhoose the correct option : (Any Five) , 10
(1) Which of the following indicate cash flow ?
(a) Profit after taxes ' Q})’ Profit after tax + Depreciation
.(r() Profit before tax - Depreciation  (d) None of these

(2) Intémal rate of return is
(a) Cut-offrate (b) Hurdle rate : ‘

(c) Interest ‘ (d) None of thes® \
| ®

(c) Per share earning ( e of these
(4) Decision Tree Approachsi @ - h deals with risk management.
(b) False |
i ju

(3) In which method discounted factor is highly necessary ?
(a) Payback period ' t prese |
d rate is higher than risk-free discount rate.

(b) False

ensitivity analysis provides a single estimate of future return from project.

(@) True .Lb) False

(7) The basic purpose of Responsibility Accounting system is
- {(a). Budgeting = (b) Authority
(8 Variance Analysis | (d). None of these

(8) A company’s ROI would generally increase when
(a) Assets increase : () Cost increase
(c) Cost decrease (d) None of these
(9) Responsibility Accounting is a part of
(@) External Reporting System ~ (b) Corporate Reporting System

(c) Internal Reporting System (@ None of these
JD-101 | - - PT.O.



(10) Under . of pricing, two separate transfer pricing methods are used.
(a) Market Price Method (b) Total Cost Method
(c¢) Dual Pricing Method ' (d) None of these

(11) Transfer Pricing is concerned with

(a) Inter-organisationalﬁ'ansfer (b) Intra-division of an organisation

te) Bothoftheabove - (d) None of these
(12) Division, under transfer pricing system is treated as \

(@) Cost centre (b) Profit

(¢) Investment centre : (d)

\\5
(\\
g@
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